5XQ-RQ VHQWHQFHV DUH ZKHQ iZR RU PRUH PDLQ FIDXVHV DUH QRIHIRLQHG E\ D FRQIXQFILRQ RU VHSDUDIHG E\ D
SHULRG RU VHPLFRIRQ 7KH\ DUH DOVR NQRZQ DV IXVHG VHQIHQFHY &RPPD VSOLFHV DUH RINHQ IRXQG LQ D UXQ-
RQ VHQWHQFH D FRPPD VSILFH LV ZKHQ D FRPPD LV LPSURSHUN\ XVHG IIR FRQQHFI iZR LQGHSHQGHQH FADXVHY

Example of a fused sentence: , DP ZUWLQJ P\ HWD\ WKH HVWD\ (DFNV SURSHU SXQFWXDILRQ
Correct example: , DP ZUWQJ P\ HWD\ 7KH HWD\ KDV JUHDW SXQFWXDIWLRQ

Example of a comma splice: , KDYHWZR FRP SOHWH WKRXJKW , DP LPSURSHU\ FRPELQLQJ
WKHP ZLIK D FRPPD

Correct example: , KDYH WZR FRP SOHIH WKRXJKWV DQG , DP FRPELQLQJ WKHP ZLWK D FRPPD
DQG FRQIXQFILRQ

Correct example: , KDYHWZR FRPSOHIH IKRXJKIV , DP FRPELQLQJ IKHP ZLIK D FRPPD DQG
D FRQIXQFILRQ

Types of run-on sentences
Two independent clauses that have a common idea:
Example: 7KLV PD\ EH KDUG IR XQGHUWDQG \RX VKRX0G NHHS SUDFILFLQJ

Correct example: 7KLV PD\ EH KDUG IIR XQGHUWDQG QHYHUIKHOHVWV \RX VKRX0G NHHS
SUDFILFLQJ

Two independent clauses joined with a transitional expression (however, therefore,
etc.):

Example: , DP ZUULQJ JUHDW FRQWHQW KRZHYHU P\ SXQFWXDWLRQ FRX(G EH IL[HG
Correct example: , DP ZUULQJ ZLIK JUHDI SXQFIXDWLRQ KRZHYHU P\ FRQWHQW FRX0G EH
EHWWHU

There is a pronoun linking two independent clauses:

Example: 3XQFIXDILRQ LV YHU\ FRQIXVLQJ LW PDNHV PH XSVHI
Correct example: 3XQFIXDILRQ LV YHU\ XVHIX0 ,W KHOSV PH ZULWH SURSHU VHQWHQFHV

How to fix run-on sentences

Use a period to divide the text into complete sentences.
Correct example: 7KHUH DUH PDQ\ VHQWHQFHY DQG , DP VHSDUDILQJ WKHP ZLWK SHULRGV , DP
EUHDNLQJ WKHP XS WR PDNH LW HDVLHU IRU WKH UHDGHU WR XQGHUWIDQG




Use a semicolon to show that the two sentences are connected.
Correct example: , DP EUHDNLQJ XS VHQUHQFHV WKLY PDNHV LI HDVLHU IRU WKH UHDGHU WR XQGHUVIIDQG

Use and, but, or, for, nor, or yet to connect the two thoughts.

Correct example: , KDYHWZR FRPSOHIH IKRXJKIV VR , DP FRQQHFILQJ WKHP ZLIK D FRQIXQFILRQ

Rewrite one of the two sentences so that it cannot stand without the other.

Correct example: , ZDV ZUILQJ P\ VHQWHQFH DQG VDZ WKDW WKH VHFRQG KDO0I QHHGHG WKH ILUW

Test Yourself

(GLIWKH IRWRZLQJ VHQWHQFHV DV QHHGHG WR DYRLG UXQ-RQV 1UDJPHQIV DQG FRPPD VSILFHV $Q DQVZHU
NH\ LV 0RFDIWHG DWW WKH ERIMRP RI WKH SDJH

O\ PRIKHU ZRUNV DI D EDNHU\ VKH DOVR PDNHV XV EUHDNIDVI HYHU\ PRUQLQJ
$ EDNHU\ VKH

% EDNHU\ VKH

& 7KLV VHQWHQFH LV FRUUHFW

, KDYH EHHQ VR WLUHG 0DWHO\ D00 , ZDQW IR GR LV VOHHS
$ (DWHON $0

% ODWHO\ D0

& 7KLV VHQWHQFH LV FRUUHFW

7KH ZRPHQ ZHQW ERZ0LQJ WKH\ DOVR ZHQW IR WKH PRYLHV
$ ERZILQJ EXWKH\

% ERZILQJ EXWWKH\

& 7KLV VHQWHQFH LV FRUUHFW

7KH HQG RI WKH VFKRR0 \HDU LV FRPLQJ WKH SURIHVVRU GRHV QRIWNQRZ P\ QDPH
$ FRPLQJ 7KH

% FRPLQJ WKH

& 7KLV VHQWHQFH LV FRUUHFW

Further Assistance )RU PRUH GHIDLOHG KHOS RU LI \RX KDYH TXHVWLRQV YLVLW WKH = ULILQJ &HQWHU ORFDWHG
LQ WKH ZHZLV 8QLYHUVLIN ZLEUDU\ RU FD0 - -

Sources Consulted: *UDPPDU&&& $ % $ S




